Gort. Mahamaya college Ratanpur

sanctim No- N/5/2264/1/9/69209

Category - SC - Fresh

Year - 2015- 16

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

00,00

State: Government of Chhattisgarh

Sanction Number: N/5/2264/1/9/69209

Sanction Date : 30/01/2016 Applications Type : Fresh

plication ID	Student Name	Gender	Manager of the sections	on I solve - non-new			Applications Type: Fresh					
经现在的	SELECTED SHOW	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun	
363831	bharti suryavanshi	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	Resident 1	
368863	kavita suryavanshi	Female	B. A./Arts/I	Fresh	9	230	2070	0		2110	418	
388769	PUSHPENDRA KUMAR DINKAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180	
613270	RUPESH KUMAR KAMALSEN	Male	B. A./Arts/I	Fresh	10	230	2300	0	2110	2110	4180	
670919	disambar kumar satnaml	Male	B. A./Arts/I	Fresh	0	230		0	2110	2110	4410	
672100	MANISHA SURYAVANSHI	Female	B. A./Arts/I	Fresh		230	2070	0	2110	2110	4180	
381282	neema ahirvar	Female	B. Sc./Computer Science/I	Fresh	9		2070	0	2110	2110	4180	
227311	GEETANJLI MATHUR	Female	M. A./Pol. Science/I	Fresh	9	230	2070	0	9150	9150	11220	
-	SANDEEP KUMAR SAROWAR	Male	M. A./Sociology/I		9	530	4770	0	2005	2005	6775	
-	CHANDRA KISHOR MANDLOI	Male	M. A./Sociology/I	Fresh	9	530	4770	0	2005	2005	6775	
	SUPREETI DHIRVI	Female		Fresh	9	530	7770	0	2005	2005	6775	
	PARVEENA GANDHARV		B. Sc./Computer Science/I	Fresh	9	230	2070	0	9150	9150	11220	
		Female	B. Sc./Computer Science/I	Fresh	9	230	2070	0	9150	9150	11220	
	REENA BAGHEL	Female	B. Sc./Computer Science/I	Fresh	9	230	2070	0	9150	9150	11220	
	MADHUSUDAN BANSHKAR	Male	M. A./History/I	Fresh	9	530	4770	0	2005	2005	6775	
204604	GODAVARI BAGHEL	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1090	1090	5860	
856785	BIHARI LAL LASKER	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2005	2005	6775	
1182418	PAWAN KUMAR SURYAVANSHI	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2005	2005	6775	

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from
erial no. 1 to I do here by sanctioning a sum of RsOut of which Rsas maintenance allowance and Rsas tuition and other fees. Printed copy of online
cholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the
andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts
ny other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Page 1/e

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

This Sanction is generated by Scholarshia Rortal. Printed on 2/8/2016

BHC

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: N/5/2264/1/9/69209

Sanction Date: 30/01/2016 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
349352	REENU BAGHEL	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	2005	2005	6775
	PRASHANT KUMAR	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2005	2005	6775
	NANDANI KUMARI SURYAVANSHI	Female	B. Sc./Science/I	Fresh	9	230	2070	0	9150	9150	
623780	Shishupal Singh	Male	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
200000000000000000000000000000000000000	SATISH KUMAR	Male	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
13.000.00	prabhu kumar	Male	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
	SURAJ KUMAR SURYAWANSI	Male	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
	POONAM SHYAMLE	Female	M. A./History/I	Fresh	9	530	4770	0	2005	2005	6775
	Meenakshee suryawanshi	Female	B. Sc./Science/I	Fresh	10	230	2300	0	8150	8150	10450
	kishan kamal	Male	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
	REENA SURYAWANSHI	Female	B. Sc./Science/I	Fresh	9	230	2070		8150	8150	10220
	BHUMIKA KOSHLE	Female	B. Sc./Science/I	Fresh	9	230	2070		3150	3150	5220
	RAHUL KUMAR SURYAWANSHI	Male	B. Sc./Science/I	Fresh	9	230	207	0 (3150	3150	5220
	amit kumar	Male	B. Sc./Science/I	Fresh	9	230	207	0 0	3150	3150	522
		Male	B. Com./Commerce/I	Fresh	9	230	207	0	2110	2110	418
	GOPAL KUMAR SURYAVANSHI	Female	B. Com./Commerce/I	Fresh	9			-	2110	2110	418
	0 Kajal Banjare			Fresh	-				2110		
48382	9 DHARMENDRA KUMAR	Male	B. Com./Commerce/I	riesn		230	1 207	<u> </u>	1	1	1

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

The state of the s

1

(Signature & Seal of Head of the Institution)
Name (Principal

Covt Mahamaya College, Ratanpu

This Sanction is generated the Sholars Dip Bortal. Printed on 2/8/2016

Refe

Page 2/6

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

State: Government of Chhattisgarh

Sanction Number: N/5/2264/1/9/69209

Sanction Date: 30/01/2016

pplication ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
397500	RAJA BELDAR	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	4180
367505	shweta suryavanshl	Female	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
548207	Madhumalti madhukar	Female	B. Sc./Science/I	Fresh	9	230	2070	0	3150	3150	5220
1150380	NEHA KORI	Female	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	4180
1198137	MANOJ KUMAR	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	4180
	SURYAPRAKASH SURYAWANSHI	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	4180
1203559	aradhana suryavanshi	Female	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	4180
1210259	BAJRANG KUMAR	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	2110	2110	
845369	DEEPAK KUMAR	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	30.00	2110	
681439	SULOCHANA SURYAWANSHI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	-
684410	Karun Kumar	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	
698990	Reena Beldar	Female	B. A./Arts/I	Fresh	9	230	2070	0		2110	
1106511	DEVENDRA SURYAVANSHI	Male	B. A./Arts/I	Fresh	9	230	2070	0		2110	-
624040	Raju Kamalsen	Male	B. Com./Commerce/I	Fresh	9	230	2070	-		2110	
1123609	ARUN KUMAR	Male	B. Com./Commerce/I	Fresh	9	230	2070		2110	2110	
1148220	kavita Parker	Female	B. A./Arts/I	Fresh	9	230	2070				
1173892	KAVITA SURYAWANSHI	Female	B. A./Arts/I	Fresh	9	230					155

Declaration:

Certified that students studying in this Institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

This Sanction is grant ated by SCHolarship Portal. Printed on 2/8/2016

RHC

Government of Chhattisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

Sanction Number: N/5/2264/1/9/69209

Sanction Date: 30/01/2016 Applications Type: Fresh

Application ID	CHI PRIVILLE				replications type . Fresh						
	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1189509	SURAJ KUMAR	Male	B. A./Arts/I	Fresh	9	230		0	2110	2110	4180
1200279	AJAY KUMAR	Male	B. A./Arts/I	Fresh	9	230			2110	2110	
679554	SURA) KUMAR	Male	B. A./Arts/I	Fresh	9	230			2110	2110	
675972	gaurav kumar laskar	Male	B. A./Arts/I	Fresh	9	230	-	-	2110	2110	107/07/
1213800	Roshani Gandhary	Female	B. A./Arts/I	Fresh	9	230	2070		2110	2110	
1208355	JAINENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1159230	KRISHNA MANOHAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1159199	SHYAM CHAND	Male	B. A./Arts/I	Fresh	10	230	2300	' 0	2110	2110	4410
1115955	RAVI JAI SURYA	Male	B. A./Arts/I	Fresh	9	55	495	0	2225	2225	2720
1116047	PRAKASH KUMAR RATRE	Male -	B. A./Arts/I	Fresh	9	▶ 230	2070	0	2110	₹110	4180
794576	SUNITA KUMARI SURYAVANSHI	Female	B. A./Arts/I	Fresh	10	230	2300	0	2110	2110	4410
794561	KALAWATI KUMARI SURYAVANSHI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
794557	KUMARI INDRANI SURYAVANSHI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
77334	narendra kumar	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
120031	BASANT KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
Season to the second second second	MEHUL KUMAR MATHUR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180

Dec	arat	ion:
-----	------	------

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of many affect of properties of the subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts candidate have been kept safely in the office and will be subject to verification of competent authority for eventual discontinues of scholarship for the studies or accepts. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place: Date : Name Rancipal

Govt Mahamaya College, Katanpu

This Sanction is Death to Blascot of Chippertal. Printed on 2/8/2016

PARC.

Page 4/6

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: N/5/2264/1/9/69209

Sanction Date: 30/01/2016

	Academic 16al . 2015 - 16					Applications Type: Fresh							
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount		
696944	ALPANA MADHUKAR	Female	B. A./Arts/I	Fresh	9	230		0	2110	2110	4180		
684381	Abhisheikh Kumar Mathur	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
675791	kishan kanhaiya dagarji	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
647406	Kamini kumari	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
801342	SURAJ KAUSHIK	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
801326	ASHISH KUMAR PALEKAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
548259	9 Pooja suryawanshi	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
548188	8 Rajnandani suryawanshi	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
548181	1 Chandana bhardwaj	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
548176	8 Sandhya suryanwanshi	Pemale	B. A./Arts/I	Fresh	▶ 9	230	2070	0	2110	· 2110	4180		
77333	9 abhimanyu kumar	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
75483	1 KAMAL KUMAR DAGARJI	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
54816	66 Ritu kumari	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
46459	1 ishwari bhardwaj	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		
39767	73 SHUBHAM KOSHALE	Male	B. A./Arts/I	Fresh	9	230			2110	2110	4180		
3864?	33 PARATH MANI BHARDWAJ	Male	B. A./Arts/I	Fresh	9	230			2110	7.55			
62365	50 Ranjita Suryawanshi	Female	B. A./Arts/I	Fresh	9	230			2110	-			
	15 Jayjayram Ratre	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180		

Dec	larat	ion:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing and down to the authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts candidate have been kept safely in the office and will be impediately reported to the authority for eventual discontinuance of scholarship/stipend from the passing the studies or accepts candidate have been kept safely in the office and will be subject to refind the subject to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place: Date: Name (Capital Leters):

emaya College, Katanpu-

is generated by Striolarship Portal. Printed on 2/8/2016

RHC

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

State: Government of Chhattisgarh

Sanction Number: N/5/2264/1/9/69209

Sanction Date: 30/01/2016

Applications Type: Fresh

0 235180 235180 437475 202295 Total :

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

Page 6/6

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Good Mahamaya College, Katanar

This Sanction is the and in State of Portal. Printed on 2/8/2016

MIC

Govt. Manamaya College Ratanpur
Sanction No. R/5/2264/1/9/69374

Category - SC - Renewal

Year- 2015-16

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

State: Government of Chhattisgarh

Sanction Number: R/5/2264/1/9/69374

Sanction Date: 30/01/2016 Applications Type: Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
362107	monika kosale	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
396585	ANAND KOUSHIK	Male	B. A./Arts/II	Renewal	9	300	2700	0		1960	
427375	MANISH SURYAWANSHI	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	77.5.5
434312	PUJA PANT	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	
451377	MAMTA BHARGAV	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	
463146	neha madhukar	Female	B. A./Arts/II	Renewal	9	300	2700	0		1960	
250416	VIJAY SHANKER CHHATRAWANI	Male	M. A./Sociology/II	Renewal	9	530	4770		1905	1905	
224650	Mithilesh Bhardwaj	Female	M. A./Sociology/II	Renewal	9	530	4770	0	1905	1905	6675
554698	kalpesh dahriya	Male	B. Sc./Computer Science/II	Renewal	9	300	2200	0			
444292	JAGESHWAR SURYAVANSHI	Male	B. Sc./Computer Science/II	Renewal	9	300	2700	0	9000	9000	
464454	arti rattre	Female	B. Sc./Computer Science/III	Renewal	9	300	2700	0	9000	9000	-
917092	ABHISHEK KUMAR GANDHARWA	Male	B. Sc./Computer Science/II	Renewal	9	300	2700	0	9000	9000	1170
294939	Nirupa Sonwani	Female	M. A./History/III	Renewal	9	530	4770	0	1905	1905	667
552229	Manishwae Kumar Lasker	Male	M. A./Pol. Science/II	Renewal	9	530	4770	0	1905	1905	5 667
879216	RAMESH KUMAR FAINER	Male	M. A./Pol. Science/II	Renewal	9	530	4770		1905	1905	5 667
209887	Laxmi prasad surywanshi	Male	M. A./Pol. Science/III	Renewal	9	530	4770		1905	190	5 667

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online serial no. 1 to I do here by sanctioning a sum of Rs. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

Nam**PCIALS** (Res):

Mehemera College, Katanpui

NIC

Page 1/5

This Sanction is a control of the Portal. Printed on 2/8/2016